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The of a strategy in smart learning based on learning project and Google services in the 

acquisition of teacher students at Aqsa University some skills of the twenty-first century  
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Abstract: The present study aimed at provide a strategy in smart learning based on learning project and Google services and then explore its 

effectiveness in the acquisition of teacher students at Aqsa University some skills of the twenty-one century such as (learning and innovation 
skills, the skills of digital technology and soft life skills). This required from the researcher to examine the twenty-first century skills that must be 

owned by the teacher students and then draw a strategy which includes a system of activities that facilitate the twenty-one century skills. In order 

to achieve the objectives of the study, the experimental and descriptive approach used to develop technological systems, as he designed the 
criteria of the twenty- one century three skills. The study was applied to a sample of (45) students of Al-Aqsa University who were selected 

intentionally.After the implementation of the study, the research found out that there was an active impact of the proposed strategy in the smart 

learning based on the integration between learning project and Google services in the acquisition of teachers students at Aqsa University, some of 
the twenty –first century skills in all three areas. It also showed that there are statistically significant difference between the two pre and post 

applications in favor of the post application in learning and innovation skills and digital technology skills (cognitive ,skills, and self-direction 
dimension’s) and soft life skills effectively according to the average acquisition for Black. 

Key words: Smart E-Learning; learning project; Google services; Skills of 21 century. 
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 �SK�b]3 %��`�$ IC_�=B A��B D��7	 �H�B 
��
 u�B�,�7=Y�3 A��=�� �7/	 �$ J7L=B3 Z5�/=B Dh<�aB3

 i��S/$ I$ �H���� �C=� i7Po=� ;�f75�5] �f2�S$ ����V�
 D�3�] I�$ ��f7��Y �H�=� m	 �n�E3 ,>?@�� A��=�� �ob
 R	 |.=/��3 �7?@�� DV�`BV�3 D�$����� �7,���/L=�
 ���$�L=$ |%�`�	 ��a�3 O: >=��3 ,��/�� ��C< N
�]
 |���, D�{3 �7���$ A���B D�,�� �PPY �7$�c/$3

�7��<W 
 >?@�� A��=�� �
�� {:(Smart Learning) f�� ��� 

��	�B A��B ��7	 i�E - fmG$ f�%3� Z���3 ,A��=�� f�j�
Y f�
 ��$ J7L=�� IC_=B3 ,�7`e� D���=� IC_=B ��<�H

�H����: ;X�
��8� N���	
�� �{���C/�� 9:  A��=���� A��<�
�H��C�� �<�/=�� %��`��3 �SK/�� x�`BV� D�3��	  W 
PH

 uH�<�A7�� (Lim, 2011)  ub�	 : �C� �j�
Y A��B �$
E
��/LB R	 1j$ �j�
8� |}G,+�3 y3
L�z� A��=�� �7,�

����Co�� |}G,+�3 �7?@�� JB���� W u�7�< i��g] 
�*3
 ��C^ N@�� >a7L=��3 >?@�� A��=�� RjY�2�� I$ 
�
���
 I$ A��=�� IL� >=�� D�%
P��3 A��=�� |�
�=$ F��b] R	
 ��
e=�5�	 DhLK��� 1�Y3 ,1n��=��3 �%�LH] }�}�B

���7?@�� |}��G,+� (Kwak, 2010) i2��5 ���� �H����z�	 ,
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 J�B����3 ��7b3
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bz�3 D�L2K��

�7?@��3 ���Co�� W %��] 
*3���b� (Noh, 2011) 9:  O]
 l�?@���3 �/`�eK�� i�P� O] I�LC�� I$ >?@�� A��=��

,V� A��=����3 r$���L=�� �{���C/��3 l�?@����3 >��<m=
 x�`�BV� i�7P\ - A �U� O] ILC� ub] m? ,><m=,V�
 ���G�� ����b: - F��z�3 A��=��� ��7	 �$ ��a�� �C=U��

�� J�L�� ��%�K��3W 
 I�$ |%�n V: �  �$ >?@�� A��=�� O: ,%�`=E�	
 |}G,] I$ |��a=5h� 6
4 >=�� y3
L�z� A��=�� %�n

�3 D�$����� �7,���/LB ����Co��3 ��7?@�� DV�`�BV
 - �7`�eK�� T%���=�� i�P� m�	 R�C��=�� N
�] R	
 1�8 ��H���� |%��:3 D��$����� ;�< x�`�o�� A��=��
 i��7Po=� fV���n3 ;D�<3.���� �����b:3 ,DhLK����

A��=�� q�75 IC� 6�
 +�W 
 %����] 
��*3���3 �A7��?� (Lee, 2010; Kim, 

2010) 9: ��a/� >?@�� A��=�� O] �p�`�� I$ 
�
���	 
���G�] : ,>C��5��� ���~ A��=����3 ,R��LC=��3 ,���7�*����

 X�7Y ;�7n�`��3 t�@�� u7,�=��3 }7ao=��3 F�
	z�3
 }7Y I$ 1�P�3 ,�?%�K��3 �7�*����	 ��UYz� I$ 
�}�
 �7H���� D�%
P�� I$ IU�3 ,A��=��3 Z���� R	 �3
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RC��=�� �
� �7<�
	z�3 Wo=� O] I�LC�3 u�7,�=�� i�P
 N@��� ��*��� - A��=��� RL� xhE I$ A��=�� t�@��
 iPo=� O] ILC� m? ,O�? �*3 N] - 3] ,A��=�� u	 
���
 ,��7�<�a=��3 �7?%�K=�� �SKb+� �H�B xhE I$ }7ao=��
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 D�%��7E �H��B xh�E I�$ J�7L=�� i�P� O] ILC�3
�H���z�	 ,>?%�K=��3 t�@�� A��=�� 9: �`��� �H��B %�

 1�?3 ,�G�$ 1$��=�� �a�=� Dh7GUB �$ �H��C�� �7/���
��j�
8� D��7,���/L=�� I�$ A<
	 ��{ W O��H ���=��	3

 I��$ ���7��< D���=U��$ i��P� O] I��LC� t�@���� A��=����
Z���� D�$
E �n�E3 ,�b
bz� xhE I$ w%�K=��2 ;

 1CK�=� F��/=B >�=�� 1*�* D�$
E xhE I$ |�P	 ��j[
 ���E]3 �7`e� D�$
E i�7Po=� �7?%�K�B ��7<m=,�

>C5��� �~3 >C5��� A��=��W 
 ;< y3
L�z� A��=�� �j�
8� D� ��V� }?�B3
 ��7  R�	 r$��LB 1LK�	 w%�K�=��3 1<�a=��3 O3��=��
 d7U�/�� ;< �m=<V�	 �7C��=�� �7C7��=�� �7�C��� 6��g]
 �j�
8� DV�`BV�3 D�$����� �7,���/LB3 ><m=,V�

�� �n�E3Z��2 � ,N
G$2012� A��=��� ��Ga� � fP7P\ ;
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 6���3��,
�/7b3�,�Z����� 2��¡�	 : D�3�] 
��=o�� A�
P=�, I�$3 ]��G=�j$: ,D�b3
���3 ,>L����� 

z� ��< >aB���� x�`�BV�3 ,��%�a�� 1p�5���3 ,��b
b
z� ��< X�2��3 ,��7<m=,V� D�L2K�� �*��$3��b
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(Groenendijk, 2009) I��$3 ,Z������ D�3�]2 ���j?+� 
�� f�7  ��/B�7Y ;�< ��E�3 ,|�E+� �b3¢� - � f%�K=b� :

���$�L=�� u�=$}o	 1*�P��3 
��=��3 w�2U7a�� WWW ,£��:
 ;�< ��`Y >=�� D�%�S=�� � %�K=b� - ���5 >=��3
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�G/7	 ¦	��� �7S=U� m? D�3�+� ��B ��
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 ��Cb A�M ,X�o	 w��oC? 1�*�* D�K�b] 
PH
 ><m=,V� 1n��=�� D�3�] I$ �S	�
$ �<�C� s2`=�
 ���=bz� �e�� N+ sCUB >=�� T�7B�7�� ��{ - m	

3 q���S	 1��n��=��3 F�,
��5V�3 I�}��e=��3 w%�K��=��
 ,1�*�* �G$
�PB D�3�+� I�$ �S7U�	 �~ �7C? ,�a�=�
���b
bz�	 x�`��B� u���
� �e��� N] |���7Y - ��U��B3 

(Middleton, 2015)W 
 ��$
� 1�C�� ���%�M X�o	 §w��� 1*�* �=�B3
 sCU��3 ,|�
��=$ x�L���	 dp��=b �
�P� �$�< %�GCv�

 A4�$���$ d$
	 �2�S�� ��C< 
PH ,�7jo2�� AG��%�KC	
 x��P< T@�, m�	 ����H+� x��Y l¨ 1�? ��/C*% ;<
 x��o=�� 
<��5 X�7Y ,�G$�
e=�5V ����H+� T���*3
 ��$ ��*�B3 ,�P	�U��� x��7,+� A�GH ;< ���H+� >C*���

 i��Yh�� - O�L7��5(cassymenendez, 2011)  x���\
��H���� I< Xo2�� %�g: �%�E ���7� 
=$� F�/=$ >C*% 

9:  ���Gp�/	 - |
<�U����3 ,|�
���=$ x�L����	 �GC�
��PB
 N]3 ,��*3 N] - ��3�
�B3 ,I���E¢� ��$ �G=?%�K$3
 R�	 ¦	���� xhE I$ �b
bz�	 x�`BV� ���C	 O�L$
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�G/$ D�$
�� I$ 
�
��� : I�3
�=�� ,y3
�L�z� 
����
 ,D�
/=U��� ,��7b3
L�z� �{m/��� ,��
7a�� ,y3
L�z�


L�z� �	�oU�� ����C	 �G_��2	 ¦2B��B �G�7 3 ,�7b3
y3
L�: 
��	 T�UY ;< �eK�� x�`Y W ���{ 1?

 ;�< ©��^z� ��M��B ¦U�	 u/L�3 ,�/CGH - ¦PH �Mª� ¤
 ���b�LaB ���P��g I��$ ����~3 ,� f_���] N.��2�� w�%�z�
 ��H���� l�/	 - ����	 �/� �mU�� xhE I$ �G=7�G/$3

}7ao=�� I$ «x�< ��=UC	 �4%��:3W 
 ��=� �7ae�� D�$
�� I$ �<�C� 1*�* �H�B m?
 ;�< |
�C=�$ �	��	3 ,�?%�KC�� fhE
$ �=�B3 ,O�$+�	

 Z������(elearningindustry, 2016) �7S=U��� X��7Y ;
 ���GU�	 AG7C��$3 AGph$� �$ A4�a�$ �?%�K$ �2�S��

− D��a�C�� x�5%z�	 ¦PH k7� �?%�K�� �/  
`*]3 − 
��n�a�� �Y�B�	 IL�3 ��CH ,� f_��] 1�
��=��3 ��	�=L��	 

 ALo=�B3 ,D�b�72�� ��=� �b] �7C7��=�� 1*�* D�P72SB
 u�7�: x�E
���	 ��2�S�� sCU�� Z��3 �*�$ 1*�PH ,��
 ,u	�U�Y �$ 1$��=�� ��{ 
�	 �7S=U�3 ,�U5ª�� 1E��
 ���G, N] 3] ¬eK�� u	�5�Y xhE I$ u=SKb] �H�?3

7o	 ;�E­ O�L$ N] 3] u=7	 - >?{ x�C� u�� sCU�� X
 xh��E I��$ u��7C��$3 u��ph$� ���$ �C=U���� 1��n��=��	
 3] �b�7n 3] Z7`/=� �,�Y V 1*�* �$ ub] m? ,�	�oU��
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 �$ J7L=�� ;�72=L�� D�7���� �$ 
7P=�� I$ �/=�Pb ���}��

�< i�2Sb O+ s�`�B >=�� �7C7��=�� Z���� D�`/$ ��G7
1j$ A��=�� D�7�7B�
5� I$ 
�
��� : ,>?%�K�=�� A��=��

 ,>/ @��� J`���3 ,®H�/=�� A��=��3 ,y3��=�� A��=��3
F3.��	 A��=��3W 
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y3
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�5V� ���B Z�S=B3 
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z� ��%�K��	 A��=�� i�7P\ Th�S�� ��n�a�� ��7b3
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AG/$ �	��S�� 6�
 +�, �H�B3 %��K�� ¥/< ����bz�	 

,���7�C��� |�����3 I��LC�3  f�_���] ����< ����hE I��$ 
: �_��]3 ,D����� x���2B3 AG_�	 R	 �2�S�� D����b

�� I$ A��=�� IL�� D��G,3 ;< 6��=�� ��c/��,��a�=e 
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*3�7�7B�
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2012�W 
�=�B3��7<m=,V� Z���� D�P72SB � (Social Web 



�� ������	
�� ���� 
���� ,30 �
��� ,�1� ������ ,�2018��1439� � 

– 105 – 

] Z���� y�j�� 17v� D�P72SB 3]Z���� 32�3�+� I$ D 
 A��=����� �7�7B�
��5� i��7Po=� �2`���� D���P72S=��3

B {: ;��%�K��	 1�<�a=��3 �?%�K��� ]
�2$ i�7Po=	 AU�=
�$3 ,Z����� ��< A��=��� - �b3���3ID��7/P=�� �@�  : 

��3 ,�	�oU��3 ,>L����3 ,I�3
=�� ,�7<m=,V� Dh_a
� �~3 �M
�\ O] i2�5 >�=�� D�$
��3 D�7/P=�� I$ 

 >=��3 ,1*�* �$}Y IC� �G/< D�~A�
�PB q��g I$ 
 ,Z���� �< �7C7��=�� |���� ;�< 
�C=�B ��b�? O] 
��2H

 ,��
���� Ap��P��3 �/?�U�� �7b3
L�z� �*������/�P=b� 9: 
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 A��=��� I�$ h̄�? O] i	�U�� ����� I$ s_=�3
3 ,>?@�� ��%�K���	 A��=��� �7�7B�
5�3 1*�* D�$
E

 ,A��=��� ���7	 }��}�B - ����	
�� D�5�L�bV� - O�Pa=�
 1CK��=� ���/��2=��3 |�
���=�� R��C��=�� D�%���G$ ���7C/B3
 ���E]3 ,�La=���	 ���E]3 ,1n��=��	 ¦2B�B D�%�G$
 °CU�$ ��\ �%
/B �2��PB �G�7  >=��3 ,�H���� |%���	

����8� O���P�� D�%���G$ A�� ] I��$ >��=��3 ,I�.�����3 N
�GH�
 ] :
�*�/�� �La=�� I$ RC��=�� RL� , D�%��G$3

DhLK���� 1��Y ,F�
��	z�3 ,1��n��=��3 ,w%�K��=��3 ,
��7,���/L=�� D�%�G��3 ,J�7L=�� ��7�	�P��3 ��b3���3 ,

t�@��� u7,�=��3 |%��2��3 ,��7,�=bz�3 W D
�G=,� 
�PH
 A7��=��	 �C=G�� D�U5ª�� I$ 
�
��� 
��
\3 J����=�

D�U5ª�� �@  I$3 ,I�.���3 N��8� O�P�� D�%�G$ :

 �=��e�� N}��?��� �mK���� >��C7�*z� N���	
�� ���=e��
 ����7,���/L=��3 x����ag+� ±����o2	�NCREL � >���=��

��n�B 9: �G=CU*3 ,I�.���3 N��8� O�P�� D�%�G$ 
 9:>��C*��� ¥����� D�%���G$ >�� 3 ;D���<�C� ���	%] ,

x�`��BV� D�%���G$31��n��=��3  , ���7,�=bz� D�%���G$3
 ><�
	z� �La=�� D�%�G$3 ,�7������NCREL, 2003 W�

 O��P�� D�%��G$ 1�,] I$ �?�.�� �Cc/$ �$�* �_�]3
 I�.���3 N��8�P21  R�	 ��?�² I�< |%�2< >  >=��

 I��$ ���<�C�3 ���7L��$+� D����V���	 ���7	
�� AU��*
�H���53�L7$ ���?² ���G�]3 ,����%��=�� D�U��5ª�� 

�(Microsoft , �o2�n] >=��P21 ��7C/B |���* A� ] I�$ 
 m�? ,¤����� - I�.����3 N���8� O�P�� D�%�G$ A7��B3

I�.���3 N��8� O�P�� D�%�G$ A7UP=	 �$�* 9:  ±hM
 ;��7<�a�� D�%�G�� I$ �
< I$ �G/$ 1? O�L=� D�<�C�

%��L=	V�3 A��=��� D�%�G$ >  , ��7,���/L=�� D�%��G$3
��3 ,��7C*��� ���<� 
�*3 ,��C<�/�� ���7B�78� D�%��GP21 

N��	
�� �C=��� 9:  ��G=Y�g >�=�� D�%��G�� ��
e=�5�
 d �/�� -3 �7C7��=�� Ac/�� - �G��3(P21, 2007) > 3 ,

�7��8� �5�%
�� - � �m=<� AB >=�� D�%�G��W 
�P	�U��� D��5�%
�� I�$ 
��
��� ��<� 
*3 9: 

��j�
8� �7�������	 �m=�� V� |%3³ A��=���� ���G/$3 ,�
Z������3 ��%�K����	 A��=����3 >?@���� y3
��L�z�2 ,

 ���< r�� m7�H3 ,I�.����3 N��8� O�P�� D�%�G$3
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�� ¥=�: 
 
��PH ���5�%� D
��?]����7 � �Heo, 2016 � O]

 ,>?@��� A��=�� D�7/PB O�$
e=U� �$
�� 12* RC����
 O��L�=C� V A�¡] >�/�� �@� 3 ,|�3
�� |%�`	 IL�3

� �H�Pj�� A��=�� D�7/P=� AG$�
e=5� I$ �}�B >=�� �7C*��
�`���E m��? ,>?@��� 9:  - ���7?@�� D���7/P=�� d�$� O]

 ´�7B3 ,><�
�	: �	��g D�{ ���7	 i�µ O] ILC� A��=��
A��=�� W �
* m?�%�=L72�5� (Spector, 2016) ��<�C� 

 ��7a7?3 ,u�B��7	3 ,>?@��� A��=���	 ��P��=�� A7 �a�� I$
��B m? ,�GC7C`B .�/��	 ��P��=�� ���_P�� Q�2� ��

 �%���2=<�	 >?@���� A��=���� D�<�����$ x���Y >��C����
 ��,�E 
�*3 ,1�7�* u�7H X�o2��3 ,f�
��
, f�<���$
 - X�o2�� |%3³ ;�< 
�?ªB �7�n�=	 ��7jo2�� �*%���

��a�=�3 |
��
< DV��� - u�B��7	3 >?@�� A��=�� W m�?
 ��5�%� �aK?���b��5� (Sunga, 2015) O] 70 % I�$

��H]3 ,���7?{ |}��G,] O���L�=C� ���G=/7< ���89 % AG/��$
3 y3
��L�z� 
������ O�$
e=U���57 % O�$
e=U���

 D
�?] ���< 1LK	3 ,�f7$�� ��hE ><m=,V� 1n��=��
 ���4l�a?3 �4�%
��* RU��o=� ���G,�7=Y� ���5�%
�� ���/7<

A��=�� - �7?@�� |}G,+� ��
e=5V W �5�%� D
?] 
*3
�N
�G$� (Mahdi H. R., 2014) ;�< A��=��� ��7�<�H 

 A��=�� �ob RC���� �2�S�� �
� �7�	�P�� RU\ - x�P/��
RSU��a	 )�*+� ���$��	 ��7	
�� ��7�L	 x�P/�� W m/�7	

 ��5�%� D
?]��� �3 �A7�?� (Ha & Kim, 2014) u�b] 
 O��H �4�$
�E3 �7?@�� |}G,+� I$ �2? �
< �H�B A~�	

- ��G=7�<�H - ��jo	 >�=�� �P	�U�� D�5�%
�� A7���=�� 
 ©��^z� �M��=�� ;�< D
�?] ��¡] m? ,� f
, ��7�* �b�?
 |l���a? RU��\3 ,���7C7��=�� ����72�� - ���7?@�� D���7/P=��

A7��=�� W 1n�B ��E] �5�%� -3�N
G$� (Mahdi H. 

R., 2014) 9:  ��7�L	 R�C���� �2�S�� �
� �7�	�* ��,3

L�z� A��=�� �ob RSU�a	 )*+� ��$��	 �7	
�� ,y3

 �� fPH3 |l��aL��3 ��7�	�P�� R	 �*h���	 ª2/=�� ILC� ub] m?
 �{�C/�TAM W �
�* m�?�>L7���L7$� (Mikulecký, 

2012)  ;��7?@�� D���72�� I�$ |��a=�5V� �7a7L� �S��E
 �j?] 1C��� I?�$] 1�, xhE I$ >?@�� A��=�� i7Po=�
 DV�`BV�3 D�$����� �7,���/LB I$ |��a=5V�3 fl�?{

8��j�
 W �5�%� �$
* m?�A7?� I��E­3 (Kim, Song, 

& Yoon, 2011) �H��B >�=�� D�$
�e�� |
��
, |�LH 
 �25�8� D��7	 - >?@�� A��=�� ��=o� q�7U��	 ><���

�
* 
*3 ,�7	�oU�� }�?�$ J�7��=�� -  �
���b:�E4S �
>  ,�7?{ ��G$ �	%] IC_B f�,{�Cb : ,���=o�� 1�7�\

75�B3 ,��=o�� Jn33 I$�}�=�� A7�U�=��3 ,x�`B� k
����=oC�� W �o���3]3���5�%� �Ia7=��5� (Stevens, 

2012) O��P�� �@  D��
\ �G,��$ I$ 
	 V O�? �{: ub] 
 O�P�� D�%�G$ ��=C� O] Z^ ���P�� RC��=�� 17, O�H
 %��L=	V�3 
�*�/�� ��La=�� - ���jC=$ I�.���3 N��8�
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 ��eb >L� ;1n��=��3 x�`BV�3 17e=��3 %��* A��=C	
 1��C���3 |���78� D�����=� N
��o=��3 ���G,���� ;��<

�<%�U��=�� W ���5�%� ���=2M] m/��7	��%
7H���5�3 ����a	3]� 
(Saavedra & Opfer, 2012) O] A��=��� ;�< Z�^ ub] 

 O��P�� D�%��G$ A��=�� >L� uC��B3 u=5�%� �P��g ���
 O] ���5�%
�� �@��  �o���3]3 ,I�.�����3 N����8�

?�B >=�� |³�o�� �7C7��=�� �7�C��� %�oC? A���� ;< }
 ,I�.����3 N���8� O��P�� D�%��G$ ��7C/B �7S=UB V
 q��g ��7�B ��/7�< Z�^ u�b] � f_�] �5�%
�� �o�3]3
 ,ip��P8� %��2=E� ;�< mp�� 
C=�B >=�� ThS�� A77P=��

uCGH k7�3 ,�`8� - ucaY A=� �$ ;<3W  ��C= � 
*3
 �5�%����7$� (Miller, 2009)  1n��=�� D�%�G$ ���S=	

 D�%��G$ I�$ |
Y�3 � %�2=<�	 �7,���/L=��3 w%�K=��3
 O�P��21 D�3�] ��
e=�5� i���g I�< Th�S�� �
�� 

�7<m=,V� D�L2K��? �b
bz� W ��5�%
�� �@  D
?]3
 O�P�� D�%�G$ �7�]21  - A��=��� ����b - ���U�� -

3�+� d$
�	 X�Y�2�� ��* X7Y ;��e=�� 
�	 1C��� D�
 D�%��G$ ��7C/=� ;���
7�P=�� A��=��� D��7	 - �7<m=,V�

 O�P��21 , ��
e=�5� i���g I�< A��=��� ��7�C< ���3
w�2U��7a�� , ,1��*�* D�
/=U��$ %����3 ,1��*�* ���*��$3


�Y�3 ·�%� 1`�H xh�E 
��B3 , dp��=/�� D��G�]3
A��=�� - RC��=�� �?%�K$ |���� , A��=�� D�%�G$ �7C/B3

 X�o2��3 >?%�K�=��x���a�� x�`��BV�3W  ���C= � m/�7	

 �5�%��IU�3]� (Olsen, 2010) ®�%
B �{�Cb ���S=	 
 D�%
��* }���}�=� �����b�j�� �%�
���� ���C��$ u$
e=U��7�

 O�P�� D�%�G$ - ThS��21 , ��5�%
�� �@�  I< d=b3
 O��P�� D�%�G� ®�%
B �{�Cb21 l�%­ 1�7�o=� ���7=b 

IC_=� RC���� :��72�� ,¦7�Se=�� ,�%
�=��k , A7�7PB3
 O�P�� D�%�G$ - ThS�� |l�a?21W 

 x��� - ��<�/=�� �P	�U�� D�5�%
�� I$ s_=�3
 ,1��C< ¸%33 ,D���ª��$3 ,Dh��� R��	 ���$ � .��b
 1P�n ;< ¹Z`/$ �m= V� O] �7�$�, �7jo	 D�5�%�3
 ¥���� D�2�S=$ �$ Z5�/=� m	 �Gp�/	3 A��=�� �7`e�

�$
��b� I�$ u��/< d=�b ���$3 ,uK�7�b N@��� 1��$�? u2�� �
 R$
e=U�� N
�] R	 �7?@��3 ���Co�� �j�
8� D�7/P=��
 ���B I�$ |��a=5V� ;< 1C��� Z�S=� m	 ;O�L$ 1? -
 ��La�� O�Ubz� l�/	 �ob �GG7,�B3 D�%
P��3 D�*�S��
 ��$ Z�5�/=B D�%
�P	 ��=C=� N@��� O�U�bz� ,>/P=��3
 R��	 D.��=b�3 ���o=ab� >��=�� ���7,���/L=�� D���	��	

U�� ���B I$ |��a=5h� XY�2�� u�� ,�/  I$3 ,R$
e=
 ,>?@��� A��=��� ;< �Cp�* �7�7B�
5� ua7��=	 D�7/P=��
 |%�`�	 �
e=U�B >=�� D�7���� I$ |��a=5V� ��@?3
 I�$ ���{3 ,1�*�* ��$}Y �n�E3 ,��C��� R	 ��p��
 |��a=�5V� ;�< 1C��� �$ �7�7B�
5V� - �G�� xhE

�=�� �7�7B�
5� I$ f�7B�{ f�G7,�B Z�S=B >=�� F3.��	 A�
 ��7/	3 1�*�* ��$}Y ��$ ��G�$�L=	 �_�] f�7?%�KB fhC<3
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 �7�7B�
��5�	 ����E] X��Y�2�� ����e7� ;>?@���� A��=����
 ,I�.����3 N���8� O��P�� D�%�G$ �$ iH��=B ��$�L=$
 �7�7B�
5V� ��B �7�<�H 6�KL=5� ;< 1C��� AM I$3

�� �2�S�� T�U?: - �Y
P�� |}�	 )*+� ��$��	 RC��
I�.���3 N��8� O�P�� D�%�G�W 

A6&�� ��@E��1��F"G� : 

- l�� �$ i25  �5�%
�� ��LK$ �
o=B O] ILC�
���� O��P�� D�%�G$ - J�� ��,3 -21 ��2�S�� �
�� 

 A��=��� I�$ |��a=�5V� - ��La=�� Z��S=B �[ ;RC����
���$}Y3 >?@���� F3.����	 A��=���� �7�7B�
��5�3 1��*�* 

 I< JKL�� AM I$3 ,��$�L=$ �7�7B�
5� ;< x�`o��
 )�*+� ���$��	 R�C���� ��2�S�� T�U�?: - �G=7�<�H

I�.���3 N��8� O�P�� D�%�G� W 
��=�� k7p��� x�ªU�� ��g IL$] ��=��	3: 

�� ������ �� ���!"H� �I7!/�� � $�%I�# �I&�'�� 

5����� �I��� � 3I	4� 2I�� ��0�I1� -.I/�� *+�I,� 

()����� (� A�7 :��0�1� ������ ,0�@��H�� ��0�I1��� 

�����,� ,����C�� ��0�1�� ��K
�
C@��� ?���	.�� 

A6&�� M�.�:  
 ���5] I< �	�,º� �7��=�� �3�a�� XY�2�� �
Y

Xo2��: 
1 −  ��V� 3{ q�H 
,�� V�7p�`Y:  ��=U$ 
/<
 ����V��α=.05� ���<�C��� D���,%� >S��5�=$ R��	 

 ��7P$ ;< �72���=�� 1�L? %��L=	V�3 A��=��� D�%�G$
������	]3  ,� 
���	3 ���Y
P�� �7�7B�
��5V� i��72SB 1��2*

N
�2�� i72S=�� s��`�W 

2 −  ��=U$ 
/< �7p�`Y: ��V� 3{ q�H 
,�� V
 ����V��α=.05�  ���<�C��� D���,%� >S��5�=$ R��	

��=�� ��7P$ ;< �72� 1�L? ��C<�/�� ��7B�78� D�%��G��
 ������	]3 ,� 
���	3 ���Y
P�� �7�7B�
��5V� i��72SB 1��2*

N
�2�� i72S=�� s��`�W 

3 −  
,�� Vq�H ��=U$ 
/< �7p�`Y: ��V� 3{ 
 ����V��α=.05�  ���<�C��� D���,%� >S��5�=$ R��	

��7P$ ;< �72���=��  1L? �7C*��� �7,���/L=�� D�%�G$
������	]3  ,� 
���	3 ���Y
P�� �7�7B�
��5V� i��72SB 1��2*

N
�2�� i72S=�� s��`�W 

4 − J`=B �� fPH3 ;�7�<�a	 �Y
P�� �7�7B�
5V� 
 ��$��	 RC���� �2�S�� T�U?: - wh2� x
��� ZUL��
 ����	+� - I�.����3 N���8� O��P�� D�%��G� )*+�

�Mhj�� :�78� D�%��G�� ,%��L=	V�3 A��=��� D�%�G$ ��7B
�7C*��� �7,���/L=�� D�%�G$3 ,�C<�/��W 

A6&�� N�
OG:  
��8� Xo2�� 6
  9: I< JKL��: 

1 − �7�7B�
��5V� ���7�<�H - ���Y
P�� T�U��?: 
�2�S�� RC���� ��$��	 )*+� Q��	 D�%��G$ O��P�� 

N��8� I�.���3W 



�� ������	
�� ���� 
���� ,30 �
��� ,�1� ������ ,�2018��1439� � 

– 109 – 

2 −  �7p�`�Y: q�a�� ��V� ���V� ��=U�$ 
�/<
�α=.05� ��5�%
�� 1�2* ��2�S�� D��,%� >S�5�=$ R	 

�5�%
�� 
�	3 ,�Y
P�� �7�7B�
5V� ��
e=5�	W 

A6&�� ��PG:  
9: ��8� Xo2�� �7�] �,�B: 

1 − �
P� - |
��
, �7�7B�
�5� ���8� Xo2�� 
 - X��o2�� |
���
, f���*�H­ s=��aB 
��* >?@���� A��=����

��=�� D�7�7B�
5�>?@�� y3
L�z� AW 

2 − �
��P�  N����8� O���P�� D�%���GC	 ���Cp�*
 ��$}Y R	 1$�L=�� ;< 
C=�B |
�
, |%�`	 I�.���3
 12�5 I�$ 
��}� m�	 F3.��	 A��=�� �7�7B�
5�3 1*�*

A���� ��
<: d$��	 - >?@�� A��=�� 17�aBW 

3 −  
*
�7a� D��7�? - k�%
�=�� ���7  l�_�<] 
a�� D��$�v�	 �7	
����a�=� D�%��G$ ��7C/B - �7/7SU� 

AG=2�g �
��7,���/L=�� x�� - �n�E3 ,W 

4 −  �
P�D�3�] N���8� O��P�� D�%�G$ ��7P� 
 �@�  - R�C=G�� 3] ,I���E­ RjY�	 
7aB 
* I�.���3

x����W 

5 − m	% �7$���� ��Gv� �H� - %3� Xo2�� O�L� 

�L�z� A��=��� |
��
, D�7�7B�
5� I< JKL�� y3

>?@��W 
A6&�� +�
7:  

�7��=�� D��
o�� ;< ��8� Xo2�� ¥=*�: 

1 − �2�g)*+� ��$�, - �7	
�� �7�? W 
2 − T�U?: - I�.���3 N��8� O�P�� D�%�G$ 

�75%
�� d �/�� �25�Y %�P$W 

3 − �{�Cb k7» 
C� �2007 � ��Y�$ I$ ���
	
 ��Y�$ °=Y 17�o=�� |���,:3 ,>p��/2�� A��P=��3 ��=bz�

|�
o�� ������ l�� - �Y
P�� �7�7B�
5V�W 
A6&�� ��6�'Q� : 

• �II����>��: J�.���� ���GH���3 �1997 ,!39 �
���¡�	 :� ,Z��5�/�� I$}���� - �o7o`���� l�7���+� 1��C<

�Cph�� �P��S��3��¡�	 �f7p��,: XY�2�� �GH���3 , : �M+�
 N@����\ u��M
7B�
��5V� �7���Y
P���X��o2�� �@��  - ; 

 I$ ���3 >=�� 6�
 +� i7P\ ���	] �5�%
�� �G�,
 ��f7�2* �2�S�� D�,%� �b%�PC	 �M+� �@  ��7* xhE I$

�f�
���	3 Z��b��v I�.�����3 N����8� O���P�� D�%���G$ 
�H
G=U��W 
• ����� ������ : uH�< 
PH�O3�E­3 ��b� (Noh, 

Joo, & Jung, 2011) ub�	: �P��g A��B }?�B ;< O�Ubz� 
�G,�$3 ��a�� ¦	�B R�	 |}�G,] ��7,���/LB D��$����� 

DV�`BV�3 �7?@�� ��$ ���7	  X�Y�2�� u�H���3 ,A��=���
ub�	 �f7p��,: : >?@��� y3
�L�z� A��=��� %�n I$ |%�n

 ���3�/=�� ����Co��3 �7?@�� D�7/P=�� I$ 
7a=U=� ;�M
o��
 1�*�* ��$}Y J�7��=	3 ,��2�S�� N
��] R	 - ���$�L=��

�f7C*% AG/7	 m7H w%�K=��3 1n��=��3 �H��C�� A4%��:W 



N
G$ >o	% IUY:  �7�<�HF3.��	 A��=�� ;< 
C=�B >?@�� A��=�� - �7�7B�
5�WWW 

– 110 – 

• ���III��� ����III�� : 
���Y] u���b�	 6������3
6
4 >=�� �j�
8� D�7�7B�
5V� 9:  6�a`��� ���SB

 ��%�K���	 A��=��� xh�E I�$ ,fh$��� � f���SB ��
7�P=��
 ;��7,���/L=��	 ��C<
$3 ,>�P7P8� ¤����� I$ �S2/=U��

8 V�n3%��L=	V� I�$ ��� ����	3  ,�3��?2013� W
u�b�	 ��f7p��,: XY�2�� uH���3 : D���S�� I�$ ��$�c/$

 ���G��3 �SK�b+� R�	 ��C� >�=��3 ,���$�L=��3 �2B
��
 D���7	 - A��=��� D��<�C� l�_�<] R�	 Dh<�a=��3
 AGa7���B 
��	 1�$�L=$ F3.$ ���bz ;>C*��� A��=��

� A��=�� D�7/PB xhE 1*�* �$}Y>?@�W 
• �	
	 ���
�:  |.�=/�� D�7���� I$ �$�c/$

 ���C	 �
e=U�� �GL�=C� >=��3 ,���Co�� |}G,+� ;<
 - ��G/$ |��a=�5V� ILC�3 ,y3
L�: 
��	 ;< u��`Y
 xhE I$ A¼
� I�.���3 N��8� O�P�� D�%�G$ �7C/B

��$�L=$ >C*% A��B �SKb] J7��BW 
• ()�I���� *+�I,� -.I/�� ��0�1�: ��GH��B3 

(The Educational Testing Service (ETS), 2007)W 
�¡�	 : ��GC7c/B3 D��$����� I���LB 3] ��  ;�< |%
P��

 � 
�7��B |���<:3 ,��G/$ |
p�a��3 �4��, A��PB3 �4%��:3
��7,%�E %��`�$ ��
e=5�	 � .b3 W X�Y�2�� ��GH���3

���¡�	 ���f7p��,: : A��=���� D�%���G$ I��$ ���7$�c/$ ��U���5
	V�3 D�%����G$3 ����C<�/�� ����7B�78� D�%����G��3 %����L=

 ���2�S�� ���GL�=C� O] Z��^ >��=�� ���7C*��� ���7,���/L=��

��$�L=$ �7?{ A��B ��7	 i�E I$ ��/LC=� >L� ;O�C����W 
• ����C�� �����,� ��0�1�� : X�Y�2�� °�/2B 
�*3
J�����B (thoughtfullearning, 2016)  �Ga��n3 N@����

 ��a�� wh=$�	�2��3 ,�b3��� ,��7<m=,V� D�%�G��3 ,|%�
 I���E¢� ��$3 uU�ab �$ u�$��B - |��7P��3 ,�7,�=bz�3
 D�	���n �G,��$ ;< |%��* ��$�L=$ �7`eK� V�n3

�4�
7P�B3 |�78�W  
• 0�@��H�� ������ ��0�1�: X�Y�2�� °�/2B 
*3 
J�����B (thoughtfullearning, 2016)  �Ga��n3 N@����

;��< |%
�P�� ����a�� wh=$��	=��  ���La=��3 ,
��*�/�� ��La
 J�*��� u����B 
�/< w%�K=��3 ,1n��=��3 ,><�
	z�

�a�=�W 

• �II��	.�� �II�K
�
C@��� ��0�II1�: °��/2B 
��*3 
J����B X�Y�2�� (thoughtfullearning, 2016) N@��� 

 ��a�� wh=$�	 �Gan3 u�7,�=��3 �7�C��� |%
P��3 �H����
��3 ,��j�
8� D��7,���/L=�� u$�
e=�5� 
/< t�@�� >�=

u?h=$� Z�S=B :� ,��7$h<z� �H�Pj�� ,�7B�$����� �H�Pj��
DV�`BV�3 D�$����� �7,���/LB �H�PM � k�L�B >=��

�7C*��� D�7,���/L=�� ©�^z�3 1<�a�� ��
e=5V�W 
R��S�.K#� A6&�� T1C�: 

 UH�G:A6&�� T1C� :  

*3 �
e=5� XY�2�� u2� dG/�� >2���=�� - @7a/B 

Xo2�� ,��8� ��
e=5�	 A7C`=��  �<�C��� N{ >2���=��
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�5�%
�� D�3�+ N
�	3 r2* i72SB �$ |
Y����W  
�U�V�W :�&). ��� R&X ���Q���:  

 |
�Y���� �<�C��� N{ §A7C`B XY�2�� �
e=5�
l���,: AM ,�7�2* �5�%
�� D�3�] i72SB ;< 
C=�� N@�� 

 �7�7B�
��5V� - 1��jC=B >��=��3 ,���72���=�� ���v����
��
�	 �5�%
�� D�3�] i72SB AM ,�Y
P��W 

 
 Y�
Z�81::A6&�� �&). ��� ���Q��� [\
) : 

r2P�� i72S=�� �72���=�� �v���� N
�2�� i72S=�� 
�5�%
�� D�3�] �Y
P�� �7�7B�
5V� �5�%
�� D�3�] 

 

�U]��W :A6&�� +�.�G:  
 I$ �b�LB45� f�
`* A %�7=E� AB �2��g3 �f2��g  

 �2�5�Y q�U�$ O��5%
� I�@��� ��7	
�� �7�? �2�g I$
�5�%
�� 6�
 + u=25�/� ;�75%
�� d �/��W 

� U���0 :���Q�����������   ��&�'�� ^�� �������� 0./���

�7!/�� �� ���!"H�,_�` 
�a bc
�V �� US�C�� :  
���6��� ��7.� : ��LK�� 
�
\ ��Y��� �@  - AB

xhE I$ D�,�8� ��
PB3 : |
< I$ ��j�� l��+� 
�
\
 IC_B3 %��`$�3 � 
��
\ A�B ��@�?3 ,�$�< 6�
 ]

 ����=� ���2�S�� ����7=Y� ����72g x���Y >�*������ l��+�
 l��+� R�	 |���a�� X�Y�2�� �
Y ��{ 
�	3 ,6�
 +�

*������ l��+�3 ����j�� y
��B X��Y�2�� ½��YV X��7Y ,>�
�� O�P�� D�%�G$ ��=U$�21 ��[ ;R�C���� ��2�S�� �
� 

 A�M I�$3 ,�7C7��=�� D�,�8�3 DhLK�� 
�
\ Z�SB
DhLK�� XY�2�� 1�Y 9:  ����	 ��7C7��B DmG$�8 �

 A7�Lo=�� �G<�_E 
�	3 F�����	 �*h< D�{ DmG$
 ¦2_��3�/C_B� 57 ��7<�H �CG$W 

@  - AB m? ��Y��� � R�C��=�� �p�`E 17�\
 ��$���� A4�%
*3rE
��� AG?���53 �%����� 
��
\3 ,

 ��{ l�� -3 ,�7C7��=�� ��72�� - ��7P��3 %��`��3 %�*
A7C`B XY�2�� %�P�� �Y
P�� �7�7B�
5V� ;< Ap�P��W 

���QII��� �II�7.�: ����Y�$ D���,�� l���� - 
 |%�n - DmG�� �~�7n AB 17�o=�� F�a=� �$�< 6�
 ]

X�Y�2�� �Ga/n AM I$3 ,�7p�¡ �7C7��B 6�
 ] �G/$ 9: 
�J7? �H��$ ,�{�$ �H��$� 
�* X�Y�2�� O��L� ��@	3 ,

A��=�� ��=� �
Y; 3 A��=��� ��
e=5� Om_�� ���=o�
u�hE I$ AGa��3;,|��K�/�� 6�
 +� i7Po=� V�n3  
 X���Y�2�� ���2B�] T����5����7H��,�abz� u���C7c/B - 

oC������=3 , - R��C=G��3 R`��=e�� |%�K��=5� 
���	
XY�2�� ��E ��8� Xo2�� D�<���$ 9: u�,�7=Y� 

�10 � �*��	 �72�%
B D�³���20 � xhE �72�%
B �<�5
 x3+� ��8� ·�%
�� 1`a��2016−2017�W 

 r� m7H3�7�7B�
�5V���Y
P��  R�	 1�$�L=��	 
��=��3 1*�* D�$
E3 >?@�� A��=�� D�7/PBF3.��	 A: 

1 − N
e� : 
 I�$ F3.���	 A��=��3 1*�* D�$
E R	 d$
��
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�����Co�� ���7?@�� D���7/P=�� xh��E;�� fP7P\ �  w%�K��=�
AG=H��$ l�/	 - RC��=��, N��8� O�P�� D�%�G$ �7C/B3 

A¼
� I�.���3W 

2 − �f�
'�� �� ���!"H� ��BC� : 
 I�LC� V �U�7p% |
�C<] |
< ;< �4��SE Ac/B

�G_��	 1�CLB ��G�?3 ,��G/$ N] I< l�/�=5V�; X�7Y 
> 3 ,1$�L=$ ��c/? 1C�B : 

 - ����� : |��S�� �@�  - T%
��� ��P� X7Y
x�3��� xhE I$ �H���� A�
P=	,y3
�L�: A���B ��72?  

 ��h���� I$}����3 ���2�S�� u��7H J���L�� F3.���� 
���
\3
º�A7�U=�� �7a7?3 ���bW 

 - z�3 �H���� ¾�P=��%�o	 :B3 ��7�C��� �@  1jC=
 �U7p��� �H���� A�
PB �7a7? - �7�7B�
5V� - �75�5+�

A��=C��,�CG��	 ua7�LB3 , x�3��� XY�2�� �
e=5� 
*3 
y3
�L�: A���B ��72? ����Co�� |}�G,+� ��$ i�H��=�� 

 O��	 fm��< ,��� ��n��� ���G��3 �H���� ��< - �7?@��
����< ���H����� 1L��� ;��< :��7H��,�ab� W �@��  -3

 ���H���� A��GH ����3�o� A��=��C�� x������ w
��� ����Y���
z� ;�< �Ga7��B31�*�* D�$
�E xh�E I�$ ��b
b, 

 ¿	 I�< ���	�=�� ;< T%
�� %3� ¥=P�3
��, |
 �K�$3 
A��=�� xm<],�G=C�5 I$ 
?�=��3 W 

 - �CGC�� t�@�� u7,�=�� : Xo2��	 A��=�� ��P� �/ 3
6�KL=5V�3; A��=�� V�n3  �$
�* >=�� �H���� l�� -

:�P	�U�� |�S�� - u7�,z V�n33 uB�,�Y F�2�W 

 - I���E¢� ��$ w%�K=��3 1n��=�� : ]
�2� ��/ 3
%3�K�=�� ��<�C��� - u�ph$� ��$ 1n��=�� - A��=��, 

�H��$ I$ uCGH �$ A�
PB3; z N��La�� F�¥��� ±�
Y
�������3 x�ªU���� xh��E I��$, ���$ i����a? 1��C���3 

¢�I��E;n3 ��CGC��3 ��H��C�� A�Ga�� 
�7Y�=� V�, 
 - w%�K=�� AM I$3:� ���bW 

 - ��CG�� ���72g3 ��H���� I�< �2�=�� : �@�  -3
|��P	 A��=��� D�n %�G� ]
2� |�S��;A�Ga�� �}��7� , 

O�C_�� 
Y��3;�CG�� i7Po=� �f7�5 W 

 - �?%�K����,�������3 ,����,���� ����@�=��3 , 
A77P=��3 :� �Gc� �/ 3� i7C��� AGa A��=��� �7�7B�
�5V

F3.��	;1C��� �?%�K$ }�}�B X7Y , ��@�=�� x�2P=5�3 
��,����;°/�$ N{ A��=� V�n3 W O�C��=�� w%�K=� �/  

A�GC��$ ��$ ¦PH k7� A�m<],A�Gph$� ��$ I�L�3 ; 
C��=�� �7S=U� X7Y�!��� AG�*�$ l�/	 O, A7C`�B3 

A %�n,3 :A4� ��
7H ��=b ,Sp���E3,AGAGSp��533  
|�
�=�� ,�7C�
P=�� AG�3�<3W 

3 − ���+Gg0�E���� ���>��� : 

 - x�Co�� �$ J7L=�� x�3���W 

 - �<�/=�� 1*�* D�$
EW 

4 − +�.�4����
� ��� : 

 - C��=�� F������`a/$ D�<�C� ;< OW 
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 - I$ �<�C� 1? O�L=B 4 9: 6RC��=$ W 

5 − h�V������ : 

 - �H���� ¾�P=�� - N��H A��BW 

 - %�K��B A����BA��Ga�� ����3�� - >?, @��7a/B3 
F3.��W 

 - %3�o=��3 �3�a=�� ;< Ap�* ><m=,� A��BW 

 
�	3|�
�=�� A��=�� %��`$ %�7=E�  XY�2�� @À�
z� ¦p����E A7C`�=	 %���P��ab� ���H���� x��Y ��7H��,

 T��S�� ��G�� O�LB O] �
Y m? ,�	��S��: I�$ � ���b
 RC��=�� ;< ��@	 !�E %��Y �	�$ 1L� u7H s��$

 ��h�� �*���3 � @7a/=� �7a7L��3 �CG�����bº�W 
�I7!/�� �� ���!"H� ^�� 0./�� .)
'� ��7.� :

 ����Y��� �@��  - A��Bz� ¦p����E A7C`��Bab� ���7H��,
>�C7��=�� ��=oC��,x�3���� T�U�Y ;�< u27`�/B3 , 

3:T�Uo�� �2�S�� �H��,D�oa`�� ;< ��G�� ��33 , 
<�a=�� �7a7? 
�
\3AG�$ 1n��=��3 1; ��%�/7U�� �� fPH3 

�Y
P�� �7�7B�
5V� D��S� �	�=�� A��=��W  
� U%��� :A6&�� ���+G:  

 D�%�G$ ��7P� D�3�] ±hM ;< Xo2�� 1C=��
��=��? > 3 ,I�.���3 N��8� O�P��: 

� x3+� ��7P�� :%�L=	V�3 A��=�� D�%�G$W 

� y�j�� ��7P�� :���C<�/�� �7B�78� D�%�GW 

� X��j�� ��7P�� :�7C*��� �7,���/L=�� D�%�G$W 

 A7C`�B - ��7��=�� D���S�� X�Y�2�� �2B� 
*3
�P	�U�� k7��P��: 

1 − 0�@��H�� ������ ��0�1� i��/� : 

 D���Se�� �� fPH3 ���7P�� ��
�<�	 X�Y�2�� ��*
�7��=��: 

 G−  j0
Q����k
&��i��/��� :  

2�� ��a=���5� 
���P� ����*�$ u���Y�g ����[ X���Y�
(thoughtfullearning, 2016) A��=���� D�%���G$ x���Y 

 �G7�< i�S� D�%�G�� �@  O] �*��� s�3 X7Y ,%�L=	V�3
�4c � Dm��L�� I�$ �*hSb�(critical thinking, creative 

thinking, communicating, and collaborating) >�=��3 
>/�B� :
�	z� ��La=��3 ,
�*�/�� ��La=�� ,1�n��=��3 ,><�

w%�K��=��3� ,����7PC�� �����	�? X��Y�2�� � 
��C=<� 
��*3 ,
 O�L� ��@	3 ��7�3+� uB%��n - ���7P�� �@  1C� 
*4 

 u��B�{ Z��7B
��	 �/C_��B3 ,DV����9 ,7 ,5 ,4 D����PH 
 I$ D�%�G�� ��
P=� D���=U$ �MhM 
�
\ AB 
*3 ,��%�2=E�

�/j=5�	 ��7P�� DV�� �7Cv Z��S�� �cb �G,3 x����� l
 x3+���7`eK�� D�b�72�����,%
	 > 3 ,� : |��2? ��,%�

�3� �S5�=$ �,%� ,�2� ��7�* �,%� ,�1�W� 
 $− i��/�� l
m:  

 ��$ ��7P� u=7Yhn3 ,��7P�� q
n I$ 
?�=��
r� �$ xhE I$ q
`�� ��7* AB ,u�,] I$ ��3: 

� n
II�6�� l
IIm : q
`���� ;��< 
��C=<� 
��*3
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% 
*3 ,�
�
\ - >PS/�� u��7j� ���7P�� l��/	 l�/M] ><3
A��=��3 %�L=	V� D�%�G� >p��,z� J���=��W 

� H�o��
�� l�%� : �AB i72SB ��7P�� ;�< ��/7< 
�7<hS=5� �b�L$ I$ 40 �f2��g I$  )�*+� ��$�, �2�g

,���5�%
�� ���/7< �%���E I��$  �A��B3 T�U��Y Dh$����$ 
¾�2B%V� �Y3��B3 ,�	%+� ���	Á� Dh$��$ ¾�2B%V� 
D��Pa� ���	+� �$ R	 :%�L=	V�3 F�
	z� :0.38 − 0.62, 

DhLK�� 1Y3 ,
P/�� :0.33− 0.69, 1�n��=�� :0.38− 

0.72, w%�K=�� :0.43− 0.78, > 3 ����� �7p�`�Y: 
�/< 
��=U$ 0.01W 

 b− i��/�� ��&W $�%7 : 

 I�$ u/C_=� �$3 ,1L? ��7P�� D�2M T�UY AB
1$��$ ��
e=5�	 ��{3 ,Â�/<]  X�7Y ;Ã��2b3�? ��a�

 1L? ��7P�� D�2M �C7* ���	0.88 D��2M ��C7* > 3 ,
�KB3 ,�7��< 9: ��7P�� ��
e=5� �7b�L$:W 

 +− i��/��� ��k�1C�� j0
Q��:  

 ��7p�G/�� uB%��n - s2�n] ���7P�� ¦2�� 
�	
 I$ O�L=�4>  DV��  : 1Y3 
P/�� ,%�L=	V�3 F�
	z�

B3 ,w%�K=�� ,1n��=�� ,DhLK�� uB�{ Z7B
��	 �/C_
8 ,8 ,5 ,3��%�2=E� D��PH W 
2 − ����C�� �����,� ��0�1�� i��/� : 

 D���Se�� �� fPH3 ���7P�� ��
�<�	 X�Y�2�� ��*
�7��=��: 

 G−  j0
Q����k
&��i��/��� :  

 ����*�$ u���Y�g ����[ X���Y�2�� ��a=���5� 
���*3
(thoughtfullearning, 2016) ��7B�78� D�%��G�� x�Y 


��*3 ,���C<�/��>��  DV���� �U��Ce	 ���*��� � �
��Y  :
� ,��7,�=bz�3 ,��7<m=,V� D�%�G��3 ,|%��2��3 ,�b3���

|����7P��3� ,����7PC�� �����	�? X��Y�2�� � 
��C=<� 
��*3 ,
 O�L� ��@	3 �7�3+� uB%�n - ��7P�� �@  1C� 
*5 

u�B�{ Z7B
��	 �/C_B3 ,DV�� 7 ,6 ,5 ,4 ,5  D���PH
hM 
�
\ AB 
*3 ,��%�2=E� D�%�G�� ��
P=� D���=U$ �M

 l�/j=�5�	 ���7P�� DV�� �7Cv Z��S�� �cb �G,3 I$
x3+� x������ ��7`��eK�� D���b�72������,%
	 >�� 3 , :

� |��2? �,%��3� �S�5�=$ ��,%� ,�2� ���7�* ��,%� ,
�1�W� 

� i�II�/�� l
IIm: ����7P�� q
��n I��$ 
��?�=�� 
 q
`��� ��7* AB ,u�,] I$ ��3 �$ ��7P� u=7Yhn3

hE I$r� �$ x: 
� n
II�6�� l
IIm: q
`���� ;��< 
��C=<� 
��*3 

 u��7j� ���7P�� l��/	 l�/M] ><3% 
*3 ,�
�
\ - >PS/��
�C<�/�� �7B�78� D�%�GC�� >p��,z� J���=��W 

� H�o��
�� l�%� : �AB i72SB ��7P�� ;�< ��/7< 
�7<hS=5� �b�L$ I$ 40 �f2��g I$  )�*+� ��$�, �2�g

I��$���5�%
�� ���/7< �%���E ,  �A��B3 T�U��Y Dh$����$ 
¾�2B%V� �Y3��B3 ,�	%+� ���	Á� Dh$��$ ¾�2B%V� 
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D��Pa� ���	+� �$ R	 :��b3���: 0.41 − 0.65, |%���2��: 
0.37− 0.71, ������7<m=,V� D�%������G��: 0.37− 0.69, 

�7,�=bz�: 0.45− 0.81, |��7P��: 0.41− 0.79, > 3 ���� 
 f�7p�`Y: 
/< ��=U$ 0.01W 

 $− $�%7i��/�� ��&W  : 

 I�$ u/C_=� �$3 ,1L? ��7P�� D�2M T�UY AB
 X�7Y ;Ã��2b3�? ��a�] 1$��$ ��
e=5�	 ��{3 ,Â�/<

 1L? ��7P�� D�2M �C7* ���	0.91 D��2M ��C7* > 3 ,
�KB3 ,�7��< 9: ��7P�� ��
e=5� �7b�L$:W 

 b− i��/��� ��k�1C�� j0
Q�� : 

p�G/�� uB%��n - s2�n] ���7P�� ¦2�� 
�	 ��7
 I$ O�L=�5>  DV�� : D�%��G��3 ,|%���2��3 ,�b3��� 

 ,|���7P��3 ,�7,�=bz�3 ,�7<m=,V� Z�7B
��	 �/C_�B3
uB�{ 5 ,6 ,5 ,3 ,5 ��%�2=E� D��PHW 

 i��/���0�1����	.�� ��K
�
C@���  : 

 >�=�� ��7C*��� �7,���/L=�� D�%�G�� ��72S� � f�cb
>�  ,Zb��, �MhM - �PB :�3 ��H���� u�7,�=��3 |%��G�

 ,l�}�,] �MhM - ��7P�� ��
<�	 XY�2�� ��* 
PH ,t�@��
��=��? > 3: 

 UH�G : pV�Z��.���: 

 G−  j0
Q����k
&�� i��/�� � �.��� pV� ��:  

 I�$ �7C7��=�� 6�
 +� 
�
\ - �%3 �$ l�� -
 IC� �a/n 6�
 ]��{�$ �H��$� X�Y�2�� ���* 
�PH ,

=E� 
/	 �~�7`	 6
��� ��72g �$ Z5�/=7� �j?] 3] N%�2
 
�*3 ,��S��3 T��`�� F�b I$ - Z�b�v� �@�  1C��

 �7�3+� uB%�n32 f��%�2=E� f�
/	  W 
 $−  l
m�.��� pV�Z�:  

 q
�n I$ 
?�=��3Z�b�v� u=7Yh�n3 -����� 
 �$ xhE I$ q
`�� ��7* AB ,u�,] I$ ��3 �$ ��7P�

r�: 
� n
�6�� l
m:;< 
C=<� 
*3  >PS/�� q
`�� 

 J����=�� u��7j� ���7P�� l�/	 l�/M] ><3% 
*3 ,�
�
\ -
�7C*��� �7,���/L=�� - �7H���� D�%�GC�� >p��,z�W 

� H�o��
�� l�%�: �AB  i72SB ��7P�� ;�< ��/7< 
�7<hS=5� �b�L$  I$40 �f2��g I$  )�*+� ��$�, �2�g

,���5�%
�� ���/7< �%���E I��$  �A��B3 T�U��Y Dh$����$ 
�¾���2B%V ���Y3��B3 ,%���2=EV� D����Pa� Dh$����$ 

¾�2B%V� D��Pa� ��7P�� �$ R	: 0.41− 0.79, > 3  ���� 
�7p�`Y: 
/< ��=U$ 0.01W 

 b− i��/�� ��&W $�%7 : 

 ���{3 ,1�L? -����� Z�b�v� D�2M T�UY AB
 D��2M �C7* ���	 X7Y ;Ã�2b3�? �a�] 1$��$ ��
e=5�	

 1L? ��7P��0.89M �C7* > 3 ,�K�B3 ,��7��< D�2 9: 
-���� Zb�v� ��
e=5� �7b�L$:W 

 +− i��/��� ��k�1C�� j0
Q�� : 

 ��7p�G/�� uB%��n - s2�n] ���7P�� ¦2�� 
�	
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 I$ O�L=�29 �*��	3 ,|�PH 29�,%� W 

�U�V�W :q���� R�K
���: 

 G−  j0
Q����k
&�� i��/�� � q���� R�K
��� pV�Z:  

g ����[ X���Y�2�� ��a=���5� 
���* ����*�$ u���Y�
(thoughtfullearning, 2016) ,��7C*��� D�%�G�� x�Y 

>��  DV���� �U��Ce	 ���*��� � �
��Y 
��*3� : ���H�Pj��
 ���7,���/LB ���H�PM3 ,���7$h<z� ���H�Pj��3 ,���7B�$�����

DV�`BV�3 D�$������ ���	�? XY�2�� � 
C=<� 
*3 ,
 O��L� ��@�	3 ,t�@��� u7,�=�� Zb�v �@�  1C�� 
�*

�n - Zb�v� �7�3+� uB%3 Z7B
��	 �/C_B3 ,DV�� 
uB�{: 6 ,5 ,2  ��MhM 
��
\ A�B 
�*3 ,���%�2=E� D���PH

 �7Cv Z��S�� �cb �G,3 I$ D�%�G�� ��
P=� D���=U$
 x3+� x������ l�/j=��5�	 ����7P�� DV����� D���b�72��

�7`eK�����,%
	 > 3 ,� : |��2? ��,%��3� ��,%� ,
 �S5�=$�2� ��7�* �,%� ,�1�W� 

$ −  l
mq���� R�K
��� pV�K:  

 I$ 
?�=��q
n ���7P� u=7Yhn3 Zb�v� �@  
r� �$ xhE I$ q
`�� ��7* AB ,u�,] I$ ��3 �$: 

� n
II�6�� l
IIm:  q
`���� ;��< 
��C=<� 
��*3
 u��7j� ���7P�� l��/	 l�/M] ><3% 
*3 ,�
�
\ - >PS/��
 - t�@����� u���7,�=�� D�%����G� >���p��,z� J������=��

�7,���/L=���7C*��� W 
� H�o��
�� l�%�:  �AB i72SB ��7P�� ;�< ��/7< 

�7<hS=5� �b�L$ I$ 40 �f2��g I$  )�*+� ��$�, �2�g
,���5�%
�� ���/7< �%���E I��$  �A��B3 T�U��Y Dh$����$ 

¾���2B%V� ���Y3��B3 ,%���2=EV� D����Pa� Dh$����$ 
¾�2B%V� D��Pa� ��Mhj�� DV����� -3 ,t�@�� u7,�=�� 

�$ R	: 0.38− 0.87, > 3 ����  f�7p�`�Y: 
�/< ��=U�$ 
0.01W 

 b− i��/�� ��&W $�%7 : 

 ���{3 ,1�L? Z�b�v� �@�  D��2M T�U�Y AB
 D��2M �C7* ���	 X7Y ;Ã�2b3�? �a�] 1$��$ ��
e=5�	

 1L? ��7P��0.86�K�B3 ,��7��< D�2M �C7* > 3 , 9: 
t�@�� u7,�=�� ��
e=5� �7b�L$:W 

 +− i��/��� ��k�1C�� j0
Q�� : 

�	 ��7p�G/�� uB%��n - s2�n] ���7P�� ¦2�� 

I��$ O���L=� : ,���7$h<z� ���H�Pj��3 ,���7B�$����� ���H�Pj��

DV�`�BV�3 D�$����� �7,���/LB �H�PM3 �/C_�B3 ,
uB�{ Z7B
��	: 5 ,6 ,3 ��%�2=E� D��PHW 

�U]��W :���	.�� ��K
�
C@��� � j0�1�� ���/� �	�'�: 

 G−  j0
Q����k
&�� /��� �	�'&����:  

 I�$ �7C7��=�� 6�
 +� 
�
\ - �%3 �$ l�� -
 IC� �a/n 6�
 ]�J7? �H��$� X�Y�2�� ���* 
PH ,

 ,6
�� ��72g �$ Z5�/=7� �j?] 3] N%�2=E� 
/	 �~�7`	
 �/C_B340 ��,%� 
��
\ |��PH 1�? Z��S=B3 ,|��PH 

 �,%� I$ �%� N��
PB A�5 ZUY |%�G�� wh=$�1 9: 
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 �,%
��5�,%
�� >/�B3 , 1 �
��/$ u2�� �a7�� �?h=$� 
�%
=B ,|%�GC�� 9: 1`B O] 9:  
�/< �
�, N�* wh=$�

 �,%
��5 W 

 $−  l
m�	�'&��:  

 ���7P� u=7Yhn3 Zb�v� �@  q
n I$ 
?�=��
r� �$ xhE I$ q
`�� ��7* AB ,u�,] I$ ��3 �$: 

� n
II�6�� l
IIm:  q
`���� ;��< 
��C=<� 
��*3
�/M] ><3% 
*3 ,�
�
\ - >PS/�� u��7j� ���7P�� l��/	 l

�7C*��� �7,���/L=�� D�%�G� >p��,z� J���=��W 
�  l
IIm5II�@6��:  �A��B  ;��< ���*�S2�� ����<

 A7���=�� ��7,���/LB - R`=e�� RCLo�� I$ �<�C�
 3] �H����z� 3] 6@��8�	 A��¼]% l�
��	z D���$�����3

�� @E+� AB l�%¢� Q�	 A� O�?3 ,1�
�=��W 

 b− &�� ��&W $�%7�	�' : 

 - R��cYh�� q���aB� ���P��g X��Y�2�� �
e=��5�
��* X7Y ;�*�S2�� D�2M T�UY  ,A77P=�� �7�C�	 XY�2��

 A7�7P=�� ��*�S	 i�72S=	 «O��M ½YhC? �E­ 17$� A77PB3
 �H
��� - ��2�S�� xm�<] I�$ ��/7< ;�< ��7p
2$ |%�`	

 � �
<3 ,O�P	�5 �2�g � 
<] >=�� �P	�U��5  I�$ xm<]
2�� ���H] �%�E - D�,%
��� D
�n% O] 
��	3 ,X�o

 xh�E I�$ ���{3 ,dp��=/�� ��v��$ A�B A7�7P=�� �*�S	
 u��7$�3 X�Y�2�� R	 6h=EV�3 q�aBV� �
$ T�UY

q��aBV� �2U�b ��b�?3 ,�	��? ������$ ��
e=5�	 88% ,

���2P$3 �7��< q�aB� �2Ub > 3W 
 +− i��/��� ��k�1C�� j0
Q�� : 

�4%��n - �o2n] �*�S2�� ¦2� 
�	 ��7p�G/�� 
 I$ O�L=B36��%�2=E� |�PH W 

�"�0
�� Tk��V: 

 xÄ�UB I< �	�,º�5�%
����V
=�5V�  N@��� ,
;< �/� :��7�7B�
5V� �7�<�H �$ - �Y
P�� T�U�?: 

�2�S�� RC���� ��$��	 )*+� Q��	 D�%��G$ O��P�� 
N��8� X7Y I$ I�.���3 : ,%�L=	V�3 A��=�� D�%�G$

�78� D�%���G��3 ���7,���/L=�� D�%���G$3 ,���C<�/�� ���7B
?�7C*���� �3��H �o�n I�$ iPo=���	 X�Y�2�� ���* 

 ;�7C��$h�� l�`Yz� Z7��5] ��
e=5�	 �Mhj�� �5�%
��
 dp��=/� s7���B r� m7H3 ,�/7��� %�7=E� �7n�`� � f�cb

|
Y ;< ��H 1? �on I$ iPo=��: 
* Y�4� M.>�� Tk��V:  x3+� ���a�� %��2=EV

 ;< �/� N@���
,�� V q�H 3{ ��V� �7p�`�Y: 
�/< 
��=U$ ��V�� α=.05� R	 >S5�=$ D�,%� �<�C��� 

�72���=�� ;< ��7P$ D�%�G$ A��=��� %��L=	V�3 1�L? 
,����	]3 12* i72SB �7�7B�
5V� �Y
P�� � 
�	3� ��* ,
XY�2��  %�2=E� i72S=	�O�ULL��3��{3 , ��
e=5�	 �

 �7p�`�Yz� d$���� �$}YSPSS x3
�v�3 ,2 ����� 
dp�=/��: 
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Y�
K8 2:: 0�&��� -
%@@�)� �"�0
�� �C�� ��K0+ �'"
�� 5� l�.>�� ��H
� �� i��/� *
�&��� o&/�� i��/�� 0�@��H�� ������ ��0�1�s 


�&�� i��/�� 
 h"
���

t�%,� 
p�.�� +
��� 

h"
�� 

p�.�� 

�
�u 

.��p� 
 ���	Z 

 ��H
��

v���k�Q7 

r2P�� 8.2 �2,��� 2 1.5 3 
*�/�� �La=�� 
N
�2�� 20.5 �2��U�� 45 23 1035 

5.857 .000  

r2P�� 10.2 �2,��� 0 0 0  �La=��
z�><�
	 N
�2�� 20.2  �2��U�� 45 23 1035 

5.850 .000 

r2P�� 7.1 �2,��� 0 0 0 1n��=�� 
��N
�2 12.3 �2��U�� 40 20.5 820 

5.529 .000 

r2P�� 3.6 �2,��� 0 0 0 w%�K=�� 
N
�2�� 8.2 �2��U�� 44 22.5 990 

5.868 .000 

r2P�� 29.1 �2,��� 0 0 0 1L? D�%�G�� 
N
�2�� 61.2 �2��U�� 45 23 1035 

5.843 .000 

 

 x3
�v� I�$ s_=�2 ���V� D�{ q3��H ���,3 
 ��=U��$ 
��/< �7p�`��Y: ����V�α=0.01  >S��5�=$ R��	

 - ���5�%
�� ���/7< D���,%�����7P$ D�%���G$ A��=���� 
%�L=	V�3 1L? ,����	]3 i72SB 12* �Y
P�� �7�7B�
5V� 

�
�	3; {: : �C7* O�z � ���Y �,%� 
/<44 f�7p�`�Y: ����� 
���V� ��=U$ 
/< .05>.000 s��`�� q3��a�� ��b�?3 ,

N
�2�� ��7P���a`�� ��a�� QH�b ��@	3 , 12Pb3 ,N
 ,1�
2�� ��a�� O] ;< x
� �@ 3 ��Y
P�� �7�7B�
5V�

 F3.���	 A��=��� R�	 1�$�L=�� ;< Ap�P�� >?@�� A��=��

 
* 1*�* D�$
E3PPY�  f�M�B� f�2? �  - D�%��G$ RU\
�5�%
�� �/7< �
� %�L=	V�3 A��=��W 

* w�]�� M.>�� Tk��V: EV y�j�� ��a�� %�2= N@��
;< �/�: �
,�� V q�H 3{ ��V� �7p�`Y: 
/< ��=U�$ 

��V�� α=.05� R	 >S5�=$ D�,%� �<�C��� ��72���=�� 
;< ��7P$ D�%�G�� �7B�78� �C<�/�� 1�L? ,�����	]3 1�2* 

i72SB �7�7B�
5V� �Y
P�� � 
�	3���* , XY�2��  i�72S=	
 %�2=E��O�ULL��3��	 ���{3 , d$����� ��$}Y ��
e=�5

 �7p�`Yz�SPSS x3
v�3 ,3dp�=/�� ���� : 
 

Y�
K 83:: 0�&��� -
%@@�)� �"�0
�� �C�� ��K0+ �'"
�� 5� l�.>�� ��H
� �� i��/� *
�&��� o&/�� i��/�� ����C�� �����,� ��0�1��s 


�&�� i��/�� 
 h"
���

t�%,� 
p�.�� +
��� 

h"
�� 

p�.�� 

�
�u 

p�.�� 
 ���	Z 

 ��H
��

v���k�Q7 

r2P�� 7 �2,��� 0 0 0 �b3��� 
N
�2�� 13.5 �2��U�� 45 23 1035 

5.860 .000 
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x��� yY�
K8 3s: 


�&�� i��/�� 
 h"
���

t�%,� 
p�.�� +
��� 

h"
�� 

p�.�� 

�
�u 

p�.�� 
 ���	Z 

 ��H
��

v���k�Q7 

r2P�� 8.6  �2,��� 0 0 0 |%��2�� 
N
�2�� 16.5  �2��U�� 45 23 1035 

5.868 .000 

r2P�� 6.4 �2,��� 0 0 0  D�%�G��
�7<m=,V� N
�2�� 14.2 �2��U�� 45 23 1035 

5.878 .000 

r2P�� 4.2 �2,��� 0 0 0 z��7,�=b 
N
�2�� 7.4 �2��U�� 39 20 780 

5.488 .000 

r2P�� 7.3 �2,��� 0 0 0 |��7P�� 
�N
�2� 14.1 �2��U�� 45 23 1035 

5.873 .000 

r2P�� 33.6 �2,��� 0 0 0 1L? D�%�G�� 
N
�2�� 65.3 �2��U�� 45 23 1035 

5.844 .000 

 
 x3
�v� I$ s_=�3 ���V� D�{ q3��H ���,3 

 ����V� ��=U��$ 
��/< �7p�`��Y:α=0.01  >S��5�=$ R��	
 - ���5�%
�� ���/7< D���,%�����7P$ D�%���G��  ���7B�78�

�C<�/�� L?1 ,����	]3  i72SB 12*�Y
P�� �7�7B�
5V� 
�
�	3; {: : �C7* O�z � ���Y �,%� 
/<44 f�7p�`Y: ���� 

��V� ��=U$ 
/< .05>.000 s��`�� q3��a�� ��b�?3 ,
N
���2�� ���7P�� ,N�a`���� ����a�� QH��b ��@��	3 ,

 ,1�
2�� ��a�� 12Pb3 O] ;�< x
� �@ 3 �7�7B�
�5V�
���P�� >?@���� A��=���� ���Y
P�� R��	 1��$�L=�� ;��< Ap  

 
* 1*�* D�$
E3 F3.��	 A��=��PPY�  f�M��B� f��2? � 
 - ����/7< �
��� ���C<�/�� ����7B�78� D�%���G�� RU��\  

�5�%
��W 

* AII��]�� M.II>�� Tk�II�V:  ����a�� %���2=EV  
 X����j��;��< �/��� N@����: �
��,�� V q���H 3{ ����V� 
�7p�`Y: 
�/< ��=U�$ ����V� α=.05� R�	 S�5�=$ >

�D���,% ���<�C��� ���72���=�� ;��< ����7P$ D�%���G$ 
���7,���/L=�� ���7C*��� 1��L? ,������	]3 1��2* i��72SB 
�7�7B�
��5V� ���Y
P�� � 
���	3�,
��PH ����*  X��Y�2��   
 %�2=E� i72S=	�O�ULL��3� ��$}Y ��
e=�5�	 ���{3 ,

�7p�`Yz� d$���� SPSS; ���a�� �7n�`�� � f��cb3 
��* X��j�� ¾��Pb ±hM - u7�< �	�,z� �p}�=	 XY�2�� 

r� m?: 
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 UH�G :�.��� pV�Z� (� ^/6���: 
Y�
K8 4:: 0�&��� -
%@@�)� �"�0
�� �C�� ��K0+ �'"
�� 5� l�.>�� ��H
� �� *
�&��� o&/�� i��/�� ���	.�� ��K
�
C@��� ��0�1�� i��/� �.��� pV� ��s 


�&�� i��/�� 
 h"
���

,�t�% 
p�.�� +
��� 

h"
�� 

p�.�� 

�
�u 

p�.�� 
 ���	Z 

 ��H
��

��k�Q7v� 

r2P�� 7.8 �2,��� 0 0 0 -���� Zb�v� 
N
�2�� 23.5 �2��U�� 45 23 1035 

5.869 .000  

 

 x3
�v� I$ s_=�4 ���V� D�{ q3��H ���,3 
 ����V� ��=U��$ 
��/< �7p�`��Y:α=0.01  >S��5�=$ R��	

- �5�%
�� �/7< D�,%� ��7P� -���� Zb�v�  D�%�G$
�7C*��� �7,���/L=��  i72SB 12*��Y
P�� �7�7B�
�5V� 

�
�	3; {: : �C7* O�z � ���Y �,%� 
/<44  f�7p�`Y: ����
��V� ��=U$ 
/< .05>.000 s��`�� q3��a�� ��b�?3 ,

N
���2�� ���7P�� ,N�a`���� ����a�� QH��b ��@��	3 ,
 ,1�
2�� ��a�� 12Pb3O] ;�< x
� �@ 3  �7�7B�
�5V�

 A��=��� R�	 1�$�L=�� ;< Ap�P�� >?@�� A��=�� �Y
P��
 
�* 1�*�* D�$
�E3 F3.��	�PPY�  f�M��B� f��2? �  -
���7P� -����� Z�b�v� RU\  ��7,���/L=�� D�%��G$

�7C*��� �5�%
�� �/7< �
�W 
 

�U�V�W :���	.�� ��K
�
C@��� � j0�1�� (� ^/6���: 

Y�
K8 5:: 0�&��� �-
%@@�) �"�0
�� �C�� ��K0+ �'"
�� 5� l�.>�� ��H
� �� *
�&��� o&/�� i��/��  ���	.�� ��K
�
C@��� ��0�1�� i��/�–*0�1�� pV�Z� s 


�&�� i��/�� 
 h"
���

t�%,� 
p�.�� +
��� 

h"
�� 

p�.�� 

�
�u 

p�.�� 
 ���	Z 

 ��H
��

��k�Q7v� 

��r2P 38.4 �2,��� 0 0 0  - |%�G��
�7C*��� �7,���/L=�� N
�2�� 152.6 �2��U�� 45 23 1035 

5.852 .000  

 

 x3
�v� I$ s_=�5 ���V� D�{ q3��H ���,3 
 ����V� ��=U��$ 
��/< �7p�`��Y:α=0.01  >S��5�=$ R��	

 - ���5�%
�� ���/7< D���,%�����7P� N%���G�� Z��b�v� 
�7C*��� �7,���/L=�� D�%�G$  i�72SB 12* �7�7B�
�5V�

�Y
P��  ,�
�	3{: : �C7* O�z � ���Y �,%� 
/<44 ���� 
��V� ��=U$ 
/< f�7p�`Y: .05>.000 q3��a�� �b�?3 ,

N
���2�� ����7P�� s��`��� ����a�� QH���b ��@��	3 ,
 ,1�
�2�� ���a�� 12Pb3 ,N�a`�� O] ;�< x
�� �@� 3

 1$�L=�� ;< Ap�P�� >?@�� A��=�� �Y
P�� �7�7B�
5V�
* D�$
E3 F3.��	 A��=�� R	 
�* 1*��PPY�  f�M��B� 

 f���2?�  -����7P� N%���G�� Z��b�v� RU��\  D�%���G$
�7C*��� �7,���/L=�� �5�%
�� �/7< �
�W 
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�U]��W :���	.�� ��K
�
C@��� ��0�1� � q���� R�K
��� (� ^/6���: 
Y�
K8 6:: 0�&��� -
%@@�)� �"�0
�� �C�� ��K0+ �'"
�� 5� l�.>�� ��H
� �� o&/�� i��/�� *
�&������	.�� ��K
�
C@��� ��0�1�� i��/� q���� R�K
��� � s 


�&�� i��/�� 
 h"
���

t�%,� 
p�.�� +
��� 

h"
�� 

p�.�� 

�
�u 

p�.�� 
 ���	Z 

 ��H
��

��k�Q7v� 

r2P�� 7.5 �2,��� 0 0 0 �7B�$����� �H�Pj�� 
N
�2�� 14.1 �2��U�� 45 23 1035 

5.883 .000 

r2P�� 8.8 �2,��� 0 0 0 z� �H�Pj���7$h< 
N
�2�� 16.4  �2��U�� 45 23 1035 

5.866 .000 

r2P�� 4.3 �2,��� 0 0 0  D�$����� �7,���/LB �H�PM
DV�`BV�3 N
�2�� 7.6 �2��U�� 42 21.5 903 

5.706 .000 

r2P�� 20.6 �2,��� 0 0 0 1L? D�%�G�� 
N
�2�� 38.1  U���2�� 45 23 1035 

5.848 .000 

 
 x3
�v� I$ s_=�6 ���V� D�{ q3��H ���,3 

 ����V� ��=U��$ 
��/< �7p�`��Y:α=0.01  >S��5�=$ R��	
 - �5�%
�� �/7< D�,%���7P� t�@�� u7,�=��  D�%�G$

,������	]3 1��L? ���7C*��� ���7,���/L=�� i��72SB 1��2* 
�Y
P�� �7�7B�
5V��
�	3 ; {: : �C7* O�z � �,%� 
/<

 ���Y44� ���V� ��=U�$ 
�/< f�7p�`Y: ��� .05>.000 ,
N
�2�� ��7P�� s��`� q3�a�� �b�?3 QH��b ��@	3 ,

 ,1�
2�� ��a�� 12Pb3 ,N�a`�� ��a�� ;< x
� �@ 3
 O] ;��< Ap���P�� >?@���� A��=���� ���Y
P�� �7�7B�
��5V�

 
* 1*�* D�$
E3 F3.��	 A��=�� R	 1$�L=��PPY� 

 f�M�B� f�2? �  -�=�� RU�\���7P� t�@��� u�7,  D�%��G$
�7C*��� �7,���/L=�� �5�%
�� �/7< �
�W 

* x��.�� M.>�� Tk��V:  ��	���� ���a�� %�2=EV
;< �/� N@��: � ;�7�<�a	 �Y
P�� �7�7B�
5V� J`=B

 R�C���� ��2�S�� T�U�?: - wh2� x
��� ZUL�� � fPH3
�G� )*+� ��$��	 - I�.����3 N���8� O��P�� D�%�

±hj�� ���	+� : D�%��G�� ,%��L=	V�3 A��=��� D�%��G$
��7C*��� �7,���/L=�� D�%�G$3 ,�C<�/�� �7B�78�� , 
�PH

XY�2�� ��*wh2�� x
���� ZU�L�� �����$ ��
e=5�	  ,
 x3
v�37dp�=/�� ���� : 

 
Y�
K8 7:: /�� ��0�1� _�)�/� gz&� Y
��� p%@�� ��	()����� *+�,� -.s 

i��/�� ���@�� �K0
�� *
�&�� h"
��� o&/�� h"
��� Y
��� p%@�� 

%�L=	V�3 A��=�� D�%�G$ 72 61.2 29.1 1.2 

�C<�/�� �7B�78� D�%�G�� 72 65.3 33.6 1.3 



N
G$ >o	% IUY:  �7�<�HF3.��	 A��=�� ;< 
C=�B >?@�� A��=�� - �7�7B�
5�WWW 
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x��� yY�
K8 7s: 

i��/�� ���@�� �K0
�� *
�&�� h"
��� o&/�� h"
��� Y
��� p%@�� 

 -���� Zb�v� 29 23.7 7.8 1.3 

 t�@�� u7,�=�� 42 38.1 20.6 1.2 

G$ �7,���/L=�� D�%�
�7C*��� 

 A77PB �*�S	 180 152.6 38.4 1.4 

 

 x3
v� I$ s_=�7  x
��� ZUL�� A7* �7  O]
 x���2P� |�
��o��3 ����%�o�� ���C7P�� I��$ ;��<] Dl���,

 > 3 ,�7�<�a��1.2 �7�7B�
5V� O] °/�C	 , 
* �Y
P��
 ����$��	 R��C���� ���2�S�� T�U��?: - ���7�<�H ���PPY

%3��o�� - I�.����3 N���8� O�P�� D�%�G� )*+� :
 D�%��G$3 ,��C<�/�� �7B�78� D�%�G�� ,%�L=	V�3 A��=��

 ,�7C*��� �7,���/L=�� O] ;�< x
�� �@ 3 �7�7B�
�5V�
=��� R�	 1�$�L=�� ;< Ap�P�� >?@�� A��=�� �Y
P�� A��

A���Y D�{ 1��*�* D�$
��E3 F3.����	 - ���2? �M���B 
 ��/7< �
�� I�.����3 N���8� O��P�� D�%��G$ RU\

�5�%
��W 
Tk��C�� �E	�C�: 

 - IU��\ ����,3 �P	�U���� dp���=/�� I��$ s_��=�
 ���7�L�� ���,%
�� - ���5�%
�� ���/7< D���,%� D�S��5�=$
 N���8� O�P�� D�%�G� ±hj�� k7��P��	 !��� ���	+�3

.�����3IU��o=�� �@��  ZU��/�3 ,I� 9:  u��=PPY ���$
 �SK��b] I��$ u��7�< ��C=���� m��	 ���Y
P�� �7�7B�
��5V�
 D�$
�E3 ��%�K���	 i���=B |�
��=$ D�%��G$ �/C_B
 �SK�b] �/C_B X7Y ;�7?{ A��B ��7	 IC� 1*�* �$}Y

 �U��L�b� >�=��3 ,��7C*��� ���7,���/L=��	 ��H���� ��7C/=�
��2=bV� ;< �2�S�� |%
* ;< f�7	�^: ���72� 
�7v� w�%�z�3 �

 ��$
P�� �4�7��	 �$ �*�3 ��
�	 1$��=��3 ,�7?@�� A��=��
 AG=��72g A�GH ;�< ��2�S�� |%
�* I$ D���3 ,1*�* I$
 AG7�<33 A�G?�%�: ��� m�? ,%�L=	V�3 A��=��	 AG=*h<3
 ��7	 u$
PB m	 �Gg�2B%�3 A �<�K$3 A %�LH] R	 �*h���	

�7?@�� A��=�� W �/C_B m? D��7��	 ��< ��7P72SB �SKb]
 I�$ t�{ u�7,�=	 �� f���H 1�C��� ��2�S�� I$ Z�S=B 1*�*
 >�=��3 ,i���H IC� 1C��� AG=�743 A4
<�U� AG�E��

���5 9:  l3
� 1$��=�� - A4�%�G$ RU\ - �2? Ç
Y
 ;�< �}7a\3 i��a�� l�_<] �7�H�� |%�M:3 ,���ab� O���B3

 �7C/=� �SKb]3 ,���bz� ,�G7�< �b�SH >=�� |%
P�� ���E:3
 ;�< A4%
�* I�$ ��� ��[ ;�<�  - È7���3 1C��� > 3
 ���b3}e�� AG=*���g I��$ ����E]3 ,w%�K��=��3 x�`��BV�
 ��7C/=� �SKb] �/C_B3 ,12P=U�� |��* ��b�L7� ;AG=�7 3
 - ��2�S�� ���$�: - �o�b >=��3 ,><m=,V� 1n��=��

 A ���5 ���[ ;���7<m=,V� Dh<���a=�� ���C/�� i��7P\ -
 �H���� ¾�P=�� ;< �2�S�� |%
* �7C/B xhE I$ ><m=,V�
 ��7�E�
�� ����La�� D�<�¥��� ±�
Y]3 ;�G�$ 1<�a=��3
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 xh�E I�$ D��a��o=�� l�/	 - ���5 �7,%�E ��E]3
 �$ ���* D�*h< �$�*: ��=��	3 ,I��E¢� �<�K$ 6�K=?�

I��E¢� W_�B m	 �7�7B�
5V� ���5 AM I$3 I�$ u=/C
 Dh<��aB3 ,A��PB3 ,�SKb]3 ,�2�g3 ,%�3�]3 ,D�l��,:
 %��K�=5�	 �2�S�� �oC5 �7?{ A��B ��7	 xhE �7$�c/$
 O��P�� D�%��G� �7U�a/��3 ���%�G��3 ��7H���� A4�,�7=Y�
 ,AG=��C7*3 AG=b���L$ I��$ D�}��<3 ,I�.�����3 N����8�

i���a�� AGpm=�b�3 A4�@�� A ��
�PB RU\ ��=��	3 W m�?
���5i��7P\ ;��< ���2�S�� D
< w�%�:3 
��7, A��GH  i��7C<

 ���C<�/�� ���7B�78� D�%���GC�� xh��E I��$ Dh<���a=��
1n��=��3 w%�K=��3 �SKb+�33 ,	 �oC�5 >�=�� ��7C/=

4�%
* A%�L=	V�3 �7<�
	z���W 
�a�3 >=�� �P��S�� O:  >� 3 ,�7�7B�
�5V� ��

 - �7�7B�
5V� ���b - ���5 
* �7b3
L�z� �P��g
��{ ����3 ,I�.���3 N��8� O�P�� D�%�G$ �7C/B 9: 

 ,y3
L�z� >?@�� A��=�� D��7	 �� }7C=B >=�� D�}7C��
��?{ �$ �$ �@  ia=�3 (Noh, 2011) A��=��� D�}7[ I< 

 l�?@��3 �/`eK�� iP� ub] - ��jC=�� y3
L�z� >?@��
 l�?@����3 >��<m=,V� A��=����3 r$���L=�� �{���C/��3

V� x�`�BV� i�7P\ - A �U� O] ILC� ub] m? ,><m=,
 ���G�� ����b: - F��z�3 ,A��=�� ��7	 �$ ��a�� �C=U��

 u�7�: %���] ��$ �$3 ,�� J�L�� ��%�K��3(Lee, 2010) 
��G�] �p�`��� I�$ 
�
���	 ��a/� >?@�� A��=�� O�	 :

 ;F�
�	z�3 ,>C�5��� ��~ A��=��3 ,RLC=��3 ,�7�*����
 X7Y ,��7�*����	 ��U�Yz� I�$ >?@��� A��=��� 
��}�

�?%�K��3W 
 A��=�� ��7	 �< A��=�� ±�
Y:3 �H���� A�
PB O:

� !���H I��$ u��=Y�B] m��	3 ,>?@���� O3����=��3 x�`��Bh
 �2�=��3 w%�K=��33%�L=	V� D��5%�[ RU\ - A �5 

 ���?{ ��$ ��$ �@  ia=�3 ,�SKb+� xhE �7^%
B �2�S��
(Kim D., 2010) I$  u7,�=��3 ,}7ao=�� 1j$ �p�`E

 I�LC� X�7Y ;�7`eK�� �7n�`��3 �7�*����3 t�@��
 A��=�� RL� xhE I$ A��=�� t�@�� u7,�=�� iPo=� O]

,O�? �*3 N] 3] u	 A��=�� 
��� N@�� �*��� - A �U�3 
 I��$ !���H� RU��\ - 1��<�a=��3 w%�K��=��3 O3����=�

�3�a=��3 1n��=��;kL�/�� N@��� �$+�  ;�< f��	�^: 
 D�%�G�� X7Y ,1L? 1�L� x���� s7=BA��=�$ ��2�=�� 

 I< m�	3 ,��*3 N] -3 ,O��L$ N] I�$ u�?�%�:3 uCGH
 �$ Z5�/=��7C*��� u=�� W 

��5�%� ��$ �5�%
�� dp�=b ia=B3� Heo, 2016� 
�`��E >=�� 9:  A��=��� - ��7?@�� D��7/P=�� d�$� O]

�7B3 ><�
�	: �	��g D�{ ��7	 i�µ O] ILC� ,A��=��� ´
�5�%�3 (Sunga, 2015) A��=��� ��7�] ;�< D
?] >=�� 

 ,A7���=�� - u$�
e=�5� q��Sb �7�5�B |%3³3 >?@��
 �5�%�3(Ha & Kim, 2014) �M��=�� ;�< D
�?] >=�� 

 ILC� �¡] m? �7C7��=�� ��72�� - �7?@�� D�7/P=�� ©�^z�



N
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 �5�%�3 ,A7��=�� |l�a? |���� - A �UB O](Kim, Song, 

& Yoon, 2011)D%��] >=��  9:  ��7?@�� |}G,+� �7�]
 ��7C7��B D�$
�E �H��� N@��� >?@��� A��=�� i7P\ -

 �5�%�3 ,�G7$
e=U� �``�3 �7`e�(Saavedra & 

Opfer, 2012) ��P��g ��7�B |%3³ ;�< D
�?] >=�� 
 O��P�� D�%��G$ ��2�S�� A��=�� >�L� A7��=��3 k�%
=��

�3 ,I�.�����3 N����8� ���5�%(Miller, 2009) >��=�� 
A��=���� - R��C��=�� �?%�K��$ |������ D���G�] , ���7C/B3

x���a�� x�`�BV�3 Xo2��3 >?%�K=�� A��=�� D�%�G$ ,
 �	�� �=�� �7<m=,V� D�L2K�� D�3�] ��
e=5� O] m?
 D�3�] 
�p��a	 Th�S�� >�<3 |����� - ���5 �7	�^:

 D%�g3 �7C7��B |���? �7<m=,V� �L2K�� O�P�� D�%�G$
21A¼
� W 

���m
��� : 

r� m	 XY�2�� É�� ,�5�%
�� dp�=b l�� -: 
1 −  17GU��B - >?@���� A��=���� 1E�
��$ 1��7�aB

u/7U\3 A��=��W 

2 −  >?@������ A��=������ D�7�7B�
����5� >����/2B
A��=�� �$�c/$ IC� �H���� |%��: Om_� ;y3
L�z�W 

3 −  - ���5�=�� ��
e=��5����j�
8� D���7/P=�� 
?� m	 w%�K=��3 ,1<�a=��3 A��=�� ¦75� ��7C/B - A �U

ThS�� �7`e� - �$�  Zb��,W 
4 − �H���� 1C��� ¸%3 
P< 9:  ��2�S�� J�7PjB

 >?@��� A��=��� x��Y I�³��o��3 R�C����3 RC����
 ��Ga7��B ��7a7?3 ,��%�K���	 A��=��3 �j�
8� D�7/P=��3

��$�L=$ |%�`	W 

5 −  12* I$ 1C����P�� R`=e��3 RCp |%��3 -
 ;��< �7/7SU���a�� D����$�v�3 ������� A7����=��3 ���7	
��
 IC�� I�.����3 N���8� O�P�� D�%�G$ d$� |%3³
 l��/2� 1E
C? D��$�v� - �� x�C��� �75�%
�� ¦S��
 1��<�a=��3 F�
��	z�3 A�*���=�� ;��< %����* A��=��$ 1��7,

AGG,��B 
* >=�� Dh_��� �$ w%�K=��3 W 
* * * 

xK�.��� 0+�Q�� ��k�	 

 UH�G :���.��� xK�.��: 

��	 ,� & �3�? ,�� W2013 W�  ;�< Ap�P�� A��=�� %�L=	� |��<:
��%�K��. ������: d7��� x3
� ©���� �7	
�� Z=L$. 

J�.��r�< ,� 1997 W� z�|Â����� |%��W z���%
/L�5: %�
��� 
�7�$�v�. 

1P<
7�5 N
� ,� 2012W� �5� ��7�<�H �SK�b+� |%��z �7�7B�

 �7C7��=�� Dh<�a=��3: A7C`B D�%�G$ �7C/B - �7b3
L�

 A��=�� D�<��=UC	 A��=�� Â�/<�z� ��2�g �
� y3
L
z� ��$�v�|}��	 �7$h5. |� ��P��:  ��~ |�%��=?� ����5%

kC� R< ��$�, ,D�/2�� �7�? ,|%�K/$. 

N
�G$, ��YIU %>��o	� 2012 W�R=7�7B�
��5� ���7�<�H A��=���� 
 
�7��B D�%��G$ ��7C/B - Z����� ;�< Ap��P�� >?%�K�=��

)*+� ��$�, �2�g �
� �H���� i72SB3. |� �P��:  ���5%
kC� R< ��$�, ,D�/2�� �7�? ,|%�K/$ |�%�=?�W 
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